Basics of using the Indian Abacus Indian Abacus

Abacus is a tool which can be used to calculate - Add, Subtract, Multiply & divide, apart from being able to do other
arithmetic functions and Brain activation. The user of Abacus, predominantly a student child would need to properly
positioned to operate the Abacus with the deft fingers of both the hands.

1. The student should position of abacus on the table on the table, four fingers distance away from the edge of the Table

> F 0, 0 0, 0, o0, o | o, 0 o, €

2. He/ she should sit upright and be seated front half of the chair space.

3. Abacus tool should be kept perpendicular to the nose of the student when the student looks at it from the top.
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Basics of using the Indian Abacus Indian Abacus

If you are a Abacus and Pencil holding for Right Hand writer hold the pencil in your right hand and hold abacus in the

left hand when you do computation using Abacus.

fom w2t oot 0w cor o o oz me bz gar

If you are a Abacus and Pencil holding for Left Hand writer you must hold Abacus and pencil both in left hand when you
do computation using abacus.

w0 W D WP WD WD O W w9 & 9 o o

After the computation is over, change the position of pencil from holding to writing position when you write the
answer.

Left Hand

Pencil Holding position ». S Pencil writing Position

HV .‘ e

Right Hand

Pencil Holding position Pencil writing Position P

-

|
1
|

When the answer is written, immediately take the pencil from writing position to holding position (shooting position)
and proceed with your next computation.

Left Hand
». Pencil writing Position Pencil Holding position
ﬁ
-
’ e
-
-
-
- -
Right Hand
Pencﬂ wnhng Posmon Pencnl Holdmg posmon

'ﬂ
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Basics of using the Indian Abacus Indian Abacus

Pencil and abacus must be held in the respective hands until you finish the computation of the last sum using abacus.

When you do Mental Sums (do not hold abacus in your hand but always hold pencil in your hand) mental sums
without using abacus do not hold abacus in your hand but always hold pencil in your hand.

10. While doing the abacus and book practice, student should always hold pencil in the hand.

@ T WD WP WP WO W W WP W P &

11. Clearing the Abacus is bringing the Abacus to Zero position - all the sliders of all the columns should be moved away

from the bar.

- W s Ve e e

- e = w w W = - e A2 XXX
oooeoeoooeoew. _wooeo®

12. Clear the abacus before you start the new sum by using short clearance short clearance or Long clearance

- - - - |

‘ﬂ“-‘---ﬂ-----’(’;'\
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Basics of using the Indian Abacus Indian Abacus
Operation of Abacus for Addition:

When the slider/s moves towards the Bar it assigns the value, it is for plus operation.

Plus (+) Operation

Indian Abacus™  Plus Operation | This picture displays two unit pointer of the 9th column, the first unit pointer column
L represents zero position. The second unit pointer column displays slider movements
= gy l towards the bar for plus operation, which represents units value.
— —w
= L
= L4
< =
= k3

When the slider/s moves away from the bar it does not assign any value, it is minus operation

Minus (-) Operation

LR TR Wadniww
. L~ The first unit pointer column displays slider movements away from the bar for minus
— ~~w operation, which represents zero value. The second unit pointer column displays zero
- position.
o~y
<~
o

There are totally five unit pointers facing columns, but the student should use only the middle unit pointer (in the 9th
column) -

Home column

1
e P ppp——|

o D S e = (= (D D [ OB 4 D D D I e &
- @ @ e @ @ (D @ e @ o W
O D b D D D e e D O & & 4

Home column - to start doing the computation.
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4.

5.

6.

Basics of using the Indian Abacus

Indian Abacus”

plus operation
(+)

&

’COQH

Indian Abacus”

~ Minus Operation
(O]

’OOQHO

Indian Abacus”

23 27

oy . |

Indian Abacus

Use right hand thumb to move lower slider in the 9th column towards the bar for plus (+) operation.

Use right hand index finger to move lower slider in the 9th column away from the bar for minus (-) operation.

Use only index finger to move the upper slider in the 9th column, towards and away from the bar for both plus and
minus (+ & -) operations.
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Basics of using the Indian Abacus Indian Abacus

7. Left hand index finger must be used to move the lower slider in the 10th column for both operations i.e. +10 to +40 and

-10 to -40
Indian Abacus™
+10 +20 +30 +40
‘ /r]‘[o O - o
//' _ 1 <@ T L= T E=3
// f //' - : /' o
/ / -

Indian Abacus”
-10 -20 -30 -40
;l[o I:- FE=S @
r | - , /'l|:o | =
J / R ™ S -
' I

8. Use left hand middle finger to move upper slider in the 10th column again for both minus and plus (+/-) operations.
i.e. +50 & -50

Indian Abacus”

+50 -50
/4/1;” . e
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Basics of using the Indian Abacus Indian Abacus

Operation of Abacus for Subtraction:

When the slider/s moves away from the bar it does not assign any value, it is for Minus (-) operation.

Use right hand index finger to move lower slider in the 9th column, away from the bar for minus (-) operation.
Use only index finger to move the upper slider in the 9th column, away from the bar for Minus (-) operations.

Left hand index finger must be used to move the lower slider away from the bar in the 10th column for -10 to -40.

Use left hand middle finger to move upper slider away from the bar in the 10th column for Minus (-) operation, i.e. -50.

Indian Abacus”

Minus Operation _50

[ &=

L4

<

Values of sliders from Column nos. 9 to 17 of Abacus

The 9th column facing unit pointer is considered as Unit / Home column. The upper slider represents the value as
Five (5) of this column and the lower slider represents the value as one (1) each. The sliders set in this column assigns

value “one ” each, together displays

Indian Abacus Addition Subtraction
Values for Slider Positions Add 1 Answer 1 Less 1 Answer 0

Upper
sider * L ™™ * Value 5
. . . . .
@ > Value 1 ]T =S w ]l
Lower « » Value 1 ‘
en
sliders @« Value 1
K4 » Value 1

9th Column «

Addition

Move lower slider towards the bar using right hand thumb in the 9th / home column as shown in the picture.

Subtraction

Move lower slider away from the bar using right hand index finger in the 9th / home column as shown in the picture. 1,
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Basics of using the Indian Abacus

Indian Abacus™

Values for Slider Positions

U 3
SI?(;:’ C 2N » Value 5
.
s » Value 1
Lower - w * Value 1
shders £y * Value 1
> » Value 1
Sth Column <
Addition

Addition

Add 2 Answer 2

B

Indian Abacus

Subtraction
Less 2 Answer 0

Move 2 lower sliders together towards the bar using right hand thumb in the 9th / home column as shown in the picture.

Subtraction

Move 2 lower sliders together away from the bar using right hand index finger in the 9th / home column as shown in the

picture.2,

Indian Abacus

Values for Slider Positions

Upper
slider + hd

Lower
sliders

Sth Column «

Addition

* Value 5

» Value 1
» Value 1
» Value 1

* Value 1

Addition
Add 3 Answer 3

Subtraction
Less 3 Answer 0

Move 3 lower sliders together towards the bar using right hand thumb in the 9th / home column as shown in the picture.

Subtraction

Move 3 lower sliders together away from the bar using right hand index finger in the 9th / home column as shown in the

picture.3,

Indian Ab

Values for Slider Positions

| Upper

| sider * -
=

| Lower L4

| sliders -
L4

{Sth Column <

Addition

» Value 5

» Value 1
* Value 1
* Value 1
* Value 1

Addition
Add 4 Answer 4
p
T o
-
<>

Subtraction
Less 4 Answer 0
£
=l
- .
-l

Move 4 lower sliders together towards the bar using right hand thumb in the 9th / home column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using right hand index finger in the 9th / home column as shown in the

picture.4,
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Basics of using the Indian Abacus Indian Abacus

Indian Abacus™ Addition Subtraction
Values for Slider Positions Add 5 Answer 5 Less 5 Anec D
Upper .
sidger < [ -+ Value5 jl \ = Q]I.
e L . . | -
- * Value 1
Lower % < * Value 1
sliders e * Value 1
-« * Value 1
Sth Column «
Addition

Move upper slider towards the bar using right hand index finger in the 9th / home column as shown in the picture.

Subtraction
Move upper slider away from the bar using right hand index finger in the 9th / home column as shown in the picture.5,

Indian Abacus” Addition Subtraction
Values for Slider Positions Add 6 Answer 6 Less 6 Answer 0
Upper B
sider + [ > ValeS5 Jl - - ]T
£ » Valve 1 ]T = o jl
Lower i L *> Value 1
siiders @ > Value 1
-« * Value 1
9th Column <
Addition

Move upper and a lower slider together towards the bar using right hand index finger and thumb together in the 9th /
home column as shown in the picture.

Subtraction
Move upper and lower slider together away from the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.6,

Indian Abacus™ 0@ Addition Subtraction
Values for Slider Positions Add 7 Answer 7 Less 7 Answer 0
Upper
sider * L ™™ » Value 5 ]l ey Q]T
. Ll . . .
< * Value 1 = £
Lower 2 -« » Value 1 o Rz
sliders @« > Value 1
*® » Value 1
9th Column «
Addition

Move upper and 2 lower sliders together towards the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.
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Basics of using the Indian Abacus Indian Abacus

Subtraction
Move upper and 2 lower sliders together away from the bar using right hand index finger and thumb together in the 9th /
home column as shown in the picture.7,

Indian Abacus ] Addition Subtraction
Values for Slider Positions Add 8 Answer 8 Less 8 Answer 0
Upper > - . N L
shder E » Value 5 J - - |
o » Value 1 i > =
Lower -« » Value 1 T L L4
sliders ey » Value 1 - > _J
=4 * Value 1

|9th Column «

Addition
Move upper and 3 lower sliders together towards the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.

Subtraction
Move upper and 3 lower sliders together away from the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.8,

Indian Abacus” i Addition Subtraction
Values for Slider Positions Add 9 Answer 9 Less 9 Answer 0

Uppe

pper e > ValeS ]1 om Q]T
<> » Value 1 v L 2

Lower o » Value 1 T = -

sliders @« » Value 1 s pes l
=2 * Value 1 < - |

Sth Column «

Addition
Move upper and 4 lower sliders together towards the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using right hand index finger and thumb together in the 9th /
home column as shown in the picture.9 as the case may be. When the slider/s moves away from the bar it loses its
value, it is for Minus (-) operation.

The 10th column on the left side gets increased with ten times more value. The upper slider represents the value as

Fifty (50) of this column and the lower slider represents the value as Ten (10) each. The slider moved towards the bar
on this column gets increased by the value as ten times more, example
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Basics of using the Indian Abacus Indian Abacus

RO Addition Subtraction
N P Oe e Add 10 Answer 10 Less 10 Answer 0
Upper |
Value 50 < =9 ] b4
. > : ) :

Value 10 « e IE © 1[-
Value 10+ @ Lower | ;
Value 10« o sliders |
Value 10 < e

10th Columnae

Addition

Move 1 lower slider towards the bar using left hand index finger in the 10th column as shown in the picture.

Subtraction

Move 1 lower slider away from the bar using left hand index finger in the 10th column as shown in the picture.10,

Indian Abacus” : Addition Subtraction
Values for Slider Positions Add 20 Answer 20 Less 20 Answer 0
Upper |
Value 50 <« &% 1* gider |
. . . . .
Value 10 «— 4 I o y l L=
Value 10« -4 Lower | ! -« -«
Value 10+ 4 o | o
Value 10 < E=g

10th Columne

PERRGG

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 10th column as shown in the picture.

Subtraction
Move 2 lower sliders together away from the bar using left hand index finger in the 10th column as shown in the
picture.20,
Indian Abacus” Addition Subtraction
Values for Slider Positions Add 30 Answer 30 Less 30 Answer 0
Upper |
Value 50 < el e stider
Valuo 10— 4 i E= L3
Value 10« = Lower | T -« l -«
Value 10+ 4 siiders | 7 @ a
Value 10 < R4 '
10th Columne
Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 10th column as shown in the picture.
Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 10th column as shown in the
picture.30,
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Indian Abacus” Addition Subtraction
Values for Slider Positions Add 40 Answer 40 Less 40 Answer 0
Upper
Value 50 <« #% 1> siider
. . . . .

Value 10 < o o L=
Value 10+ 4@ Lower | I L4 -«
Value 10+ 4 shoers | L= l a5
Value 10 < B3 R4 e

10th Columnae

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 10th column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 10th column as shown in the
picture.40,

Indian Abacus” : Addition Subtraction
Values for Slider Positions Add 50 Answer 50 Less 50 Answer 0

Value 50 <

T+ shter AC = Ao
v

>
= e

Value 10 <
Value 10«
Value 10 <
Value 10 <

10th Columne

Lower |
sliders |

tdee I

Addition

Move upper slider towards the bar using left hand middle finger in the 10th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 10th column as shown in the picture.50,

ndian Abacus : Addition Subtraction
Values for Slider Positions Add 60 Answsar 60 s AR
Upper

Value S0+ @B "]+ e 1[ = I[ PN

Value 10 < P IE o .1[ =

Value 10« , Lower |

Value 10« = sliders |

Value 10 < o

10th Columna

Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.60,
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Indian Abacus” Addition Subtraction
Values for Slider Positions Add 70 Answer 70 Less 70 Answer 0
Value 50 <« #% e l;;:dp; ‘ 1[ s I[ﬂ
. - . L - . .

Value 10+ 4 1 - |[ -

Value 10+ = Lower | - -«

Value 10— 4 siiders |

Value 10 < o

10th Column«

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.70,

Indian Abacus” Addition Subtraction
Values for Slider Positions Add 80 Answer 80 Less 80 Answer 0

Value 50 <

e

'1[:

Value 10 <
Value 10«
Value 10«
Value 10 <
10th Columne

Lower |
* siiders |

Je W IC
|

t¢¢ )

-«

tdet I

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.80,

Indian Abacus” Addition Subtraction
Values for Slider Positions Add 90 Answer 90 Less 90 Answer 0

Value 50 <

Upper |
:] * siider | 1[

-
-

o

.
Value 10 <
Value 10«
Value 10«
Value 10 <

10th Columne

___________

-«

Lower |
* sliders | I

tdet I
te¢e I

e

Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.
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Basics of using the Indian Abacus Indian Abacus

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.90.
When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.

The 11th column on the left side gets increased with ten times more value. The upper slider represents the value as
Five Hundred (500) of this column and the lower slider represents the value as One Hundred (100) each. The slider
moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus Addition Sbtete
Add 100 Answer 100 % +}
Values for Slider Positions = ngwer Less 100 Answer 0

] . Upper

sicer . . . .
. =
IC P (e
Lower
sliders

Value 500«

Value 100 «
Value 100«
Value 100«
Value 100+

11ih Columne

»

tess I

Addition

Move a lower slider towards the bar using left hand index finger in the 11th column as shown in the picture.

Subtraction

Move a lower slider away from the bar using left hand index finger in the 11th column as shown in the picture.100,

Indian Abacus Addition Subtraction

Add 200 Ans 200 g 84
Values for Slider Positions - dnigaed Less 200 Answer 0

Upper
\d <

Viak s £000
Value 500 + shder . . . .

J

Value 100«

Lower
sidlers

Value 100 <

Value 100 <

tsees I

Value 100 <

11th Columne

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 11th column as shown in the picture.
Subtraction

Move 2 lower sliders together away from the bar using left hand index finger in the 11th column as shown in the
picture.200,
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Indian Abacus Addition Subtraction

Add 300 Answer 3 .
Values for Slider Positions Answer 300 Less 300 Angwer 0

o

Lower I[
* siiders | | 4

Valua 500 «
.
Value 100«
Valye 100 «
Value 100 <
Value 100 <
11th Columne

tee
e

Tt

¢4

tsss I

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 11th column as shown in the picture.

Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 11th column as shown in the
picture.300,

Indian Abacus Addition Subtraction

Adid 400 Answe
Values for Slider Positions Angwer 400 Less 400 Angwee 0

Valua 500 +

Value 100 <
Value 100 «
Value 100«
Value 100 <
11th Columne

tsses 9
]
=i

tete

ttee

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 11th column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 11th column as shown in the
picture.400,

Indian Abacus Addition Subtraction
— e Add 500
Values for Slider Positions Snanectiy Less 500 Answer 0
Uppe 1 = r -
Value 500« B ?;;’ ,‘/ 3 " . A~ . .
. -~ "4
! I,\"
Value 100« =
Value 100« @ R Lower
Value 100« ey shders
Value 100« 4
11th Columne
Addition

Move upper slider together towards the bar using left hand middle finger in the 11th column as shown in the picture.
Subtraction

Move upper slider together away from the bar using left hand middle finger in the 11th column as shown in the
picture.500,
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Indian Abacus

Addition
© Values for Siider Positions e Anasec 0
=3
o500+ oy | B :
IE «
Value 100 « >
Value 100« -4 R Lower
Valye 100+ 4 siders
Value 100« 4
11th Columne
Addition

Indian Abacus

Subtraction
Less 600 Answer 0
It oo
, l[ =

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 11th

column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 11th

column as shown in the picture.600,

Indian Abacus

Addition
Add 700 Answer 700

Valu; '; S]c;er Positions

] Upper l[ o

shder - . .

1 .

Value 500 <
.
Value 100 «
Value 100«
Value 100«
Value 100 «
11th Columne

Lower
* siders

tsss I

Addition

Subtraction
Less 700 Answer 0
I: S
lis
L™

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 11th

column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 11th

column as shown in the picture.700,

Addition
Add 800 Answer 300

Values for Slider Positions

Upper l[
] > shider ” .

Lower Wi
* siders

Value 500«

Value 100«

t¢e I

Value 100«
Value 100+
Value 100 <
11th Columne

tses I

Addition

Subtraction
Less 800 Answer 0
Iﬁ o
[
| -
Le

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 11th

column as shown in the picture.

Subtraction
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Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 11th
column as shown in the picture.800,

Indian Abacus Addition Subtraction
Add 500 Answer
Values for Slider Positions nswer 900 Less 900 Answer 0
Up - r =
Value 500+ 4 e o :l[ ; ; = : :
. e [ -
Value 100« Bl
=2 4
Value 100« L=4 R Lower L P
Value 1004 4 shders -
£ =4 <
Value 100 < <
11th Columne
Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 11th

column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 11th
column as shown in the picture.900

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.

The 12th column on the left side gets increased with ten times more value. The upper slider represents the value as
Five Thousand (5000) of this column and the lower slider represents the value as One Thousand (1000) each. The
slider moved towards the bar on this column gets increased by the value as ten times more, example

‘lndlan Abacus Addition
Values for Slider Positions Add 1000 Answer 1000
- Upper |
Value 5000 +—— T+ sicer
. - . . . .
Value 1000 +—— 4 ; Tr =
Value 1000 < @ Lower |
Value 1000 < = sliders. |
Value 1000 < >
12th Column <
Subtraction
Less 1000 Answer 0
. . L .
/ l[ <
Addition

Move a lower slider towards the bar using left hand index finger in the 12th column as shown in the picture.

Subtraction

Move a lower slider away from the bar using left hand index finger in the 12th column as shown in the picture.1000,

Page 17 of 44


javascript:setVisible1('layer47',true)
javascript:setVisible1('layer48',true)
javascript:setVisible1('layer49',true)

Basics of using the Indian Abacus Indian Abacus

Indian Abacus

Addition
Values for Slider Positions Add 2000 Answer 2000
v ” Upper
Value 5000 «—— &% I slider
. . - . L .
Value 1000 < < =
Value 1000 +—— 4 , Lower YAl =
Value 1000 «— 4 shiders :
Value 1000 +——ab
12th Column <
Subtraction
Less 2000 Answer 0
. . . -
¢ wr
-
Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 12th column as shown in the picture.

Subtraction

Move 2 lower sliders together away from the bar using left hand index finger in the 12th column as shown in the
picture.2000,

Indian Abacus

Addition
Values for Slider Positions Add 3000 Answer 3000
. » Upper
Value 5000 «—— &% I slider
s L) . . . .
Value 1000 < A4 -3
Volue 1000 «—— 4 , Lower =
Value 1000 <+ 4 sliders -
Value 1000 +——ab
12th Column <
Subtraction
Less 3000 Answer 0
. . L -
. [ -
f =
_ -
Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 12th column as shown in the picture.
Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 12th column as shown in the
picture.3000,
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Indian Abacus

Addition
Values for Slider Positions Add 4000 Answer 4000
v ” Upper
Value 5000 «—— &% I slider
s a . . . .
Value 1000 +—— 4 -
Volue 1000 «—— 4 Lower A =
Value 1000 < = shiders 4 -
Value 1000 «—@ | | o
12th Column <
Subtraction
Less 4000 Answer 0
. . . -
-4
=
2
B3
Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 12th column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 12th column as shown in the
picture.4000,

Indian Abacus Addition
Values for Slider Positions Add 5000 Answer 5000
Value 5000 < 4% o o /,l[ -
s . », - . - .
Value 1000 <+ 4 e
Value 1000 < > , Lower
Value 1000 <« 4 sliders
Value 1000 < «»
12th Colemn <
= Subtraction
Less 5000 Answer 0
/7 « > x v
'
/U
Addition

Move upper slider towards the bar using left hand middle finger in the 12th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 12th column as shown in the picture.5000,
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Basics of using the Indian Abacus Indian Abacus

Indian Abacus

Addition
Values for Slider Positions Add 6000 Answer 6000

Value 5000 +— 4% (o e I -
Value 1000 < 4 T[ -
Value 1000 « A s Lower
Value 1000 <« 4 sliders
Value 1000 < -
12th Column <

Subtraction

Less 6000 Answer 0
o
Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.6000,

Indian Abacus

Addition
Values for Slider Positions Add 7000 Answer 7000
Upper

Value 5000 +— 4% o a I -
Value 1000 < < I -
Value 1000 < -« , Lower o
Value 1000 < 4 sliders
Value 1000 < -
12th Column <

Subtraction

Lass 7000 Answer 0

e
s

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.7000,
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Basics of using the Indian Abacus Indian Abacus

Indian Abacus

Addition
Values for Slider Positions Add 8000 Answer 8000
Uppe
Value 5000 + 4 T+ e l[ -
Value 1000 < R =
Value 1000 « £ Lower o
* sliders
Value 1000 <« 4 5 -
Value 1000 < -
12th Column «
Subtraction
Less 8000 Answer 0

£

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.8000,

Indian Abacus

Addition
Values for Slider Positions Add 8000 Answer 9000
Upper
Value 5000 < 4% [+ ﬁﬁg‘,‘ PN
Value 1000 < R4 -
Value 1000 < -« Lower -
* sliders T

Value 1000 <« 4 g -
Value 1000 < o« =
12th Column <

Subtraction

Less 8000 Answer 0

¢ttt -

Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.9000

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.
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Basics of using the Indian Abacus Indian Abacus

The 13th column on the left side gets increased with ten times more value. The upper slider represents the value as
Fifty Thousand (50000) of this column and the lower slider represents the value as Ten Thousand (10000) each. The
slider moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus” AN
Values for Slider Positions Add 10000 Answer 10000

:] Uppes . . . .

Value 50000« * sider

=
Value 10000« =
Value 10000« - Lower
Vaiue 10000+— 4 sders
Value 10000« Qo
13th Column « Subtraction

Less 10000 Answer 0

/ |Cw

Addition

Move a lower slider towards the bar using left hand index finger in the 13th column as shown in the picture.

Subtraction

Move a lower slider away from the bar using left hand index finger in the 13th column as shown in the picture.10000,

Indian Abacus” Addition

Values for Slider Positions Add 20000 Answer 20000

Value 50000«
Value 10000«

w fard enrs
Value 10000+ siiders

Vae 10000e—

=
-4
Vaue 10000« - , Lower
-
@

13th Column «

Subtraction
Less 20000 Answer 0

s

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 13th column as shown in the picture.

Subtraction
Move 2 lower sliders together away from the bar using left hand index finger in the 13th column as shown in the
picture.20000,
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Basics of using the Indian Abacus Indian Abacus

Indian Abacus” Addition

Values for Slider Positions Add 30000 Answer 30000

. Upper . . . .
B, shder

. . [
Lower

shders

Value 50000«

Value 10000«
Value 10000«
Value 10000«
Vae 10000e—
13th Column «

Subtraction
Less 30000 Answer 0

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 13th column as shown in the picture.
Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 13th column as shown in the
picture.30000,

Indian Abacus Addition

Values for Slider Positions Add 40000 Answer 40000

Value 50000+ 4% I ‘.{,‘:;T: o 9 3 =
. -

Value 10000 +—— 4up T

Value 10000« s Lower 4

Vale 10000+— 4 aainaa ’

Vakie 10000¢+— @

13th Columin ¢——

tece

Subtraction
Less 40000 Answer 0

teee

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 13th column as shown in the picture.
Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 13th column as shown in the
picture.40000,
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Basics of using the Indian Abacus Indian Abacus

lndlan ADACUS Addition
Values for Slider Positions Add 50000 Answer 50000
/1 £l =

Value 50000« - e &,{Fgﬁ /6 > - N "
Value 10000+ =4

Value 10000« L~ Lower

Value 10000« 4 yijes

Value 10000« =g

13th Column « Subtraction

Less 50000 Arswer 0

e

<
/

Addition

Move upper slider towards the bar using left hand middle finger in the 13th column as shown in the picture.

Subtraction
Move upper slider away from the bar using left hand middle finger in the 13th column as shown in the picture.50000,

Indian Abacus Addition
Values for Slider Positions Add 60000 Answer 60000
i IC -
Value 50000« % s F‘;’f(’ - . 2 = .
. . TE -
Value 10000« A4
Value 10000« « " Lower
Value 10000« 4 siders
Value 10000« o
13th Cok
bl Subtraction
Less 60000 Arswer 0
[Ce
. l[ -

Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 13th

column as shown in the picture.
Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 13th

column as shown in the picture.60000,
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Basics of using the Indian Abacus Indian Abacus

Indian Abacus” Addition

Values for Slider Positions Add 70000 Answer70000

Valye 50000+ Yo LPner - ) - > <

* sidec
Value 10000+
Value 10000«
Value 10000«

Value 10000«

Lower
sliders

ts¢e¢ I

13th Column «

Subtraction
Less 70000 Arswer 0

I’n

Ile

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 13th

column as shown in the picture.

Subtraction
Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 13th

column as shown in the picture.70000,

lndlan Abacus Addition
Values for Slider Positions Add 80000 Answor 80000
It -
Vaiue 50000 4 To e > y : N .
Value 10000« < -3
Vaue 10000+ o Lower L4
Value 10000« 4 siders
Value 10000« g
13th Cok
i Subtraction
Less 80000 Answer 0

—
—
tee

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 13th

column as shown in the picture.

Subtraction
Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 13th
column as shown in the picture.80000,
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Basics of using the Indian Abacus Indian Abacus

Indian Abacus” Addition

Values for Slider Positions Add 80000 Answor S0000

Upper .
Value 50000+ Yo : g

* shder
Value 10000«
Value 10000«
Value 10000«

Value 10000«

Lower
sliders

t¢s¢e D
tecee I

13th Column «

Subtraction
Less 50000 Arswer 0

t¢ee I

Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 13th

column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 13th
column as shown in the picture.90000

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.

The 14th column on the left side gets increased with ten times more value. The upper slider represents the value as
Five Lakhs (500000) of this column and the lower slider represents the value as one lakh (100000) each. The slider
moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus” Addition
Values for Slider Positions Add 100000 Arswer 100000
e Upper . . . .
Value 500000 < - :} * slider T[ P

Value 100000 <

X0 < Lower

shders

Value 10
Value 100000 «
Value 100000 <
14 Column <

Subtraction
Loss 100000 Answer 0

e

Addition

Move a lower slider towards the bar using left hand index finger in the 14th column as shown in the picture.
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Basics of using the Indian Abacus Indian Abacus

Subtraction
Move a lower slider away from the bar using left hand index finger in the 14th column as shown in the picture.100000,

Indian Abacus Addition
Values for Slider Positions Add 200000 Asswer 200000

s L Upper . . . .
Vaslue 500000 « - J * sider

- = T[ e
Value 100000 «— 4 =
Vialue 100000 < o " Lower
Value 100000 +— 4 \coachd
Value 100000 «— %

14th Column <
Subtraction
Less 200000 Answer 0

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 14th column as shown in the picture.

Subtraction
Move 2 lower sliders together away from the bar using left hand index finger in the 14th column as shown in the
picture.200000,

Indian Abacus Addition
Values for Slider Positions Add 300000 Arswer 300000

s L . Upper . . . .
Vislue 500000 < % [}* sider

. N N
Value 100000 «— 4 T -
Vitlue 100000 +—— b Lower 4 U
Valye 100000 = -3 shders
Value 100000 «— %

14th Column <
Subtraction
Less 300000 Answer 0

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 14th column as shown in the picture.

Subtraction
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Basics of using the Indian Abacus Indian Abacus

Move 3 lower sliders together away from the bar using left hand index finger in the 14th column as shown in the
picture.300000,

Indian Abacus AP
Values for Slider Positions Add 400000 Asswer 400000
i o b Upper . . . .
Vislue 500000 « - _} > ider
. . e
Value 100000 < E=3 T &
Vislue 100000 < o Lower e
Value 100000 = o siiders P
Value 100000 «— &
14th Column <
Subtraction
Less 400000 Answer 0
. . . .

teee

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 14th column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 14th column as shown in the
picture.400000,

Indian Abacus FAESE,
Values for Slider Positions Add 500000 Answer 500000
'1[ -
Jpp A . .
Value 500000 « - :] . ':‘;";’:r’ ~ . .
Value 100000 < @
Value 100000 < oz Lower
Value 100000 < @ shders
Value 100000 « o
14th Column <
Subtraction
Less S00000 Answer
/'I[: =
,4 . .

Addition

Move upper slider towards the bar using left hand middle finger in the 14th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 14th column as shown in the picture.500000,
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Basics of using the Indian Abacus Indian Abacus

Indian Abacus Addition
Values for Slider Positions Add 600000 Ansivar 000000
IC -
Value 500000 < 49 [T+ osec -
. 0 @
Value 100000 < 4 T
Value 100000 « oz Lower
Value 100000 +—| 4 oon
Value 100000 « o
14th Column «
Subtraction
Less 600000 Answer 0
Lo
[ -

Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 14th

column as shown in the picture.

Subtraction
Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 14th

column as shown in the picture.600000,

Indian Abacus Addition
Values for Slider Positions Add 700000 Answer 700000
IC -
Value 500000 «—| 4 o i : - - c
. . ’ [ @
Value 100000 < 4 T -
Value 100000 « - Lower
Value 100000 +—— 4 s
Value 100000 « o
14th Column <
Subtraction
Less 700000 Answer 0
Lo

e

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.

Subtraction
Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 14th

column as shown in the picture.700000,

Page 29 of 44


javascript:setVisible1('layer72',true)
javascript:setVisible1('layer73',true)
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Indian Abacus Addition
Values for Slider Positions Add 800000 Answer 800000
IC -
Value 500000 «——| 4 o ) " . v .
. . Lol
Value 100000 +——| 4 T =
Value 100000 « oz Lowe -
Value 100000 < 4@ shder
Value 100000 « =
14th Column «
Subtraction
Less 500000 Answer 0

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.800000,

'ndlan .‘\baCiiS Addition
Values for Slider Positions Add 500000 Answer 900000
IC -
Value 500000 < 4 o , : - - c
. . - @
Value 100000 <« 4 T =
Value 100000 « oz Lower -
Value 100000 < 4@ shders L
Value 100000 < £
14t Column <
Subtraction
Less 900000 Answer 0

tece I

Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.900000
When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.
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7.

Basics of using the Indian Abacus Indian Abacus

The 15th column on the left side gets increased with ten times more value. The upper slider represents the value as
Fifty Lakhs (5000000) of this column and the lower slider represents the value as Ten lakhs (1000000) each. The slider
moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus Py
Values for Slider Positions Add 1000000 Answer 1000000

Uppes

Value S000000« o 15 elidad . . . . . .

. . . : T, o

Value 1000000¢— 4 _'{ i

Viaiue 1000000« «» |, Lower

Vake 1000000« e J shders

Value 1000000«— &

15th Column

Subtraction
Less 1000000 Arswet 0

Addition

Move a lower slider towards the bar using left hand index finger in the 15th column as shown in the picture.

Subtraction

Move a lower slider away from the bar using left hand index finger in the 15th column as shown in the picture.1000000,

Indian Abacus Addition
Values for Slider Positions Add 2000000 Answer 2000000
Value 5000000« - 3 . i':; . . . . . .
. . =i T— o
=2 ‘ L -
Rea) | Lower
I* sdocs
. J eCers
| 1

15th Column <

Subtraction
Less 2000000 Asvswee 0

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 15th column as shown in the picture.
Subtraction

Move 2 lower sliders together away from the bar using left hand index finger in the 15th column as shown in the
picture.2000000,

Page 31 of 44


javascript:setVisible1('layer76',true)
javascript:setVisible1('layer77',true)
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Indian Abacus” Addition
Values for Slider Positions Acd 3000000 Answer 3000000

Value 50000004 % e ;_'z, . . . » . .

. . . r &
Value 1000000e— 4 1 T -
Vaive 1000000« o Lower L -+
Vakie 1000000« 4 siders
Vakie 1000000¢— @

15th Column <
Subtraction
Less 3000000 Asswer 0

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 15th column as shown in the picture.

Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 15th column as shown in the
picture.3000000,

Indian Abacus Addition
Values for Slider Positions Add 4000000 Answer 4000000
2 Upper
Value S000000« o :} * ciider . . . . . N
= . . r o
Value 1000000¢— 4 1 T P
Value 1000000« o X Lower -
. o~ siders
Vakie 1000000+ b ! -
Vakie 1000000«—

15th Column <
Subtraction
Less 4000000 Asswee 0

._
teee -

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 15th column as shown in the picture.
Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 15th column as shown in the
picture.4000000,
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Indian Abacus Addition
Values for Slider Positions Add 5000000 Answer 5000000
Ueg /1C -
Vaive 50000004 4 B & . . i 5 > .

. |

k- Lower

a ‘} » shders |

- - |

15th Column <
Subtraction
Less 5000000 Arswer 0
JC =
-

Addition

Move upper slider towards the bar using left hand middle finger in the 15th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 15th column as shown in the picture.5000000,

Indlan HDECUS' Addition
Values for Slider Positions Add 6000000 Answer 6000000
C P
Vaive 5000000« | #% e t::: _1 . . . . . .
. . . . Py
- [ I
-« |, Lower
Vakoa 1000000+ | 4 1 $8ders |
Valoe 1000000« o |
15th Column «
Subtraction
Less 6000000 Asswer 0
[Cw
|G
Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 15th

column as shown in the picture.
Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 15th

column as shown in the picture.6000000,
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Indian Abacus™ Addition
Values for Slider Positions Add 7000000 Answer 7000000
Uooat I a
Vaiue 5000000« | 4 I3+ exsae M B . . . ‘ .
. . ol , o
bt ’ T P
o Lower
a ‘i » shders
. —_—
15th Column <
Subtraction
Less 7000000 Arswer 0
[Cw
. 1 %
Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.7000000,

'ndlan ADACUS Addition
Values for Slider Positions Add 8000000 Answer 8000000
Uope IC -
Vaive 5000000« | % e : M B . . . .
. . . | . - .
ot ’ T P
- Lower ey
@ ‘! * siders 1
- - |

15th Column <

Subtraction
Less 8000000 Arswer 0

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.8000000,
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Basics of using the Indian Abacus Indian Abacus

Indian Abacus” Addition

Values for Slider Positions Add 5000000 Answer: 5000000

-t
Vaive 5000000« % "} S B . . . .
. . | . .
@ T a
. Lower .
shders
- @
- p—y
15th Column «
Subtraction
Less 9000000 Arswer 0
[Cw
e
<
L -
R~
Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.

Subtraction
Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.9000000.

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.

The 16th column on the left side gets increased with ten times more value. The upper slider represents the value as
Five Crores (50000000) of this column and the lower slider represents the value as one crore (10000000) each. The
slider moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus Addition
Values for Slider Positions A 10000000 Answer 10000000
- Upgor
) | - o e 5 . .
| e
£
= , Lows
-
=
Subtraction
Less 10000000 Arewer O

Addition

Move a lower slider towards the bar using left hand index finger in the 16th column as shown in the picture.

Subtraction

Move a lower slider away from the bar using left hand index finger in the 16th column as shown in the picture.10000000,
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Basics of using the Indian Abacus Indian Abacus

H Ahars e
|ndlaﬂ ALAlAIS Addition
Values for Slider Positions A 20000000 Answer 20000000
. . . o
T <
= L v
o Lower
& der
et ot
=
Subtraction
Less 20000000 Arswer O

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 16th column as shown in the picture.

Subtraction

Move 2 lower sliders together away from the bar using left hand index finger in the 16th column as shown in the
picture.20000000,

H Ahars e
|I’Idlan "t'u\ UuS Addition
Values for Slider Positions A3 0000000 Answer 30000000
T’ g
- |
-
b o Lowe e
=
=
Subtraction
Less 30000000 Arswor O

._
tee

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 16th column as shown in the picture.
Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 16th column as shown in the
picture.30000000,
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Basics of using the Indian Abacus Indian Abacus
Indian Abacus P

Values for Slider Positions Ak 40000000 Answar 40000000

ttse )
(-
i
tece

Less 40000000 Arawor O

._
tete

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 16th column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 16th column as shown in the
picture.40000000,

Indian Abacus Addition
Values for Slider Positions A $0000000 Answar 50000000
e 50000000 < | e 51 Bl ,i'
- - -
< -
-« - Lowe
.
. - »
Vo 10000000 « | &
% Colarmns @
Subtraction
Less 50000000 Arswer 0
i [T -
s
-~

Addition

Move upper slider towards the bar using left hand middle finger in the 16th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 16th column as shown in the picture.50000000,
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Indian Abacus Addition
Values for Slider Positions A 52000000 Answar 50000000
: -
5000000 « | e 31 Dol _-l'
= I -
= Lower
- ® sicers
=
Subtraction
Less 80000000 Arswer 0
JCO=
|Cw

Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.60000000,

Indian Abacus =
Values for Slider Positions Ackd TOO00000 Answar 70000000
: o~
Ve 50000000 « | &% g ;"\"' .l,
. . T %
@ ] | -
- Low
» oy
- 3
> J
Subtraction
Less 70000000 Arewer 0
JCO=
l | -
L -

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.70000000,
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Basics of using the Indian Abacus Indian Abacus

lndlan Abacus Addition
Values for Slider Positions Adis BOO0000 Answar 80000000
: ~
5000000 « | e 31 Dol .l‘

’ . T -
@ ] pul
= = L- -

bt cors

P
Subtraction
Less 20000000 Arewor 0

tte )

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.80000000,

Indian Abacus .
Values for Slider Positions k3 HO000000 Answar 90000000
o~
Aun 50000000 « | N g :”\"‘ .l,
: : f -
< ] =
> 3 o r
o =3
<«
Subtraction
Less 90000000 Arewer 0

——

Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.90000000.

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.
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Basics of using the Indian Abacus Indian Abacus

The 17th column on the left side gets increased with ten times more value. The upper slider represents the value as
Fifty Crore (500000000) of this column and the lower slider represents the value as Ten Crore (100000000) each. The
slider moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus Addition

Values for Slider Positions

Subtraction

Lass 100000000

Addition

Move a lower slider towards the bar using left hand index finger in the 17th column as shown in the picture.

Subtraction
Move a lower slider away from the bar using left hand index finger in the 17th column as shown in the

picture.100000000,

Indian Abacus Addition

Values for Slider Positions Add 200000000
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Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 17th column as shown in the picture.

Subtraction
Move 2 lower sliders together away from the bar using left hand index finger in the 17th column as shown in the

picture.200000000,
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Basics of using the Indian Abacus Indian Abacus

Indian Abacus PR
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Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 17th column as shown in the picture.

Subtraction
Move 3 lower sliders together away from the bar using left hand index finger in the 17th column as shown in the
picture.300000000,

Indian Abacus P
Values for Slider Positions Add 820000000
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Subtraction
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Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 17th column as shown in the picture.

Subtraction
Move 4 lower sliders together away from the bar using left hand index finger in the 17th column as shown in the
picture.400000000,
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Basics of using the Indian Abacus Indian Abacus
Indian Abacus Addition

Values for Slider Positions Add B000000% DR 00NN

Subtraction

Loss SO00000K Rovwer 3
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Addition

Move upper slider towards the bar using left hand middle finger in the 17th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 17th column as shown in the
picture.500000000,

lndlan ADECUS Addition
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Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.600000000,
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Basics of using the Indian Abacus Indian Abacus

'ndian ADacus Addition
Values for Slider Positions Add 700000008 Anvwer 200000000
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Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.700000000,

Indian Abacus Addition
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Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.800000000,
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Basics of using the Indian Abacus Indian Abacus

Indian Abacus Addition

Values for Slider Positions Add 300000000 Anvwer $00000000
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Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 17th

column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.900000000.

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.
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